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Economics 355 Final Exam 
D. DeVoretz                                                                                                          April 13, 2007
Name__________________                                                           Student    ID # __________________
 Tutor’s Name________________
 Instructions: You have exactly 180 minutes. No paper will be accepted after 180 minutes. You may use one aid, a data card for your country. 
Part A: True, False or Uncertain: Select first true, false or uncertain, this is worth 1 point. 4 points for reason to be placed in section below question. Answer all. Use information from your country when appropriate. Total 75 points Each worth 5 pts. 
1. The Green Revolution in agricultural will only work with an abundant supply of literate farmers, credit and good infra structure . ____ Why? 
 
 
2. In the first and last stages of the demographic transition theory the country’s population growth is  equal to near zero.  ____ Why?
 
 
 
3. Large farms are always more productive than small farms and therefore are the preferred vehicle for development  ____ Why?

 
 
 
4. For Transition countries the move from Socialism to capitalist development requires that all institutions change at once or the so called “Big Bang” must occur. . ______ Why? 

 
 
 
 
5. A Brain Drain from your country is good for the individual immigrant and the receiving country but not for your country. _____    Why?
 
 
 
6. The Green Revolution raises agricultural output per farm but leads to increasing income inequality in the rural sector. _________Why?

7. The size of the main city in a less developed country always exceeds the economically optimum size because negative externalities arise from migration. __________ Why?

8. China’s sustainable economic growth rate is considerably less than its reported growth rate.________ Why?
8. Good Governance in poor countries is need because you can only develop with democracy Why?
9. The majority of poor countries choose the “socialist model of development” because they believed that capitalist market produced inequities and planning could overcome these inequities. ._____ Why? 
10. A less developed country should not sign the Koyto agreement but just apply there own pollution tax. ___________ Why?

11. When an individual does not contract malaria because of an act of investment by Bill Gates then the economic outcome can be represented by  a human capital model in that the age earnings profile is extended.________________ Why? 

12. Free trade should provide more benefits than an expanded Canadian aid programme for your country.__________. Why?

13. There are valid short-run arguments for child labour but not long run economic arguments. _________. Why?

15.     The lack of clean water in your country is partially due to a clear definition of property rights. ________. Why?
 
Part B: Critical Analysis: 50 points in total, 25 per question
1. Prior to the exam I distribute an article for all of you to read on the educational policies and realities in modern India. You have had lectures on the role of education in the development process and the roles that education must fulfill in terms of gender equity, rate of return analysis, the brain drain and literacy. After reading this piece describe how any of these goals are apparently fulfilled in India or more importantly where they are missing. Be specific and quote from the article and relate your quote to the facts reported in the article. Next, you are to write a briefing note to your boss at CIDA and make a case for Canadian educational aid to India based on how to overcome these shortcomings with specific recommendation on how the aid should be used. 
Note this essay will be graded as follows:

10 marks for critique of Indian educational system based on criteria outlinded

5 points on your proposal to your Minister in CIDA

5 points on grammar and strength of argument

Total 20 points. 
Use the space provided below and all must be written in essay form, no bullets. 
2.. Fill in the Blanks Total 20 points
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 The above diagram shows that in the case with common property resource, any potential profits or scarcity rents will be competed away.

A. If land is privately held, the landowner will hire _____ workers where the market wage rate W equals _____.  Scarcity rents collected by the landowner will equal to the area ___________ as a result of total revenue (area) __________ minus total cost (area) _________. (10pts in total)

B. If under a system of common property, _____ workers will be attracted to cultivate the land where the market wage rate W equals _____.  Scarcity rent is _____ and arises as a result of total revenue (area) __________ minus total cost (area) __________. (10 pts in total).

Part  C: In the space(s) provided please answer the attached questions: Total Value 25 points
1. In the second half of the course we looked at particular strategies to hasten development. These included education, international migration, globalization, good government, industrialization, to name a few.

a. Pick one tool that would be the best device to invest in for your country and with the aid of facts from your country show how that tool has been used as a successful tool. (20 pts)

b.  Pick one strategy that did not work and argue with facts why that strategy did not work. (5pts.)
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